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Total Marks: 100 Total Duration: 60 minutes

Instructions

Read the instructions provided for every question properly before attempting the answer.

N
Noble Thoughts
Noble Actions

N\
& Paab‘@@qof 31 &



EEMT2024-PREL{MS-CL7 (#150)

Section’ GK-EASY

_<Marks per question: 1 .
3 of 3 question(s) in this section will be shown to examinee
Examinee should answer all 3 question(s) in this section

Q1 Difficulty Level: Very Easy

All you know that the Ram Mandir is built in Ayodhya. But Ayodhya is on the bank of which river?
@IS TP0S008Y DY BENDHBINIONS DBED. FOSK AT VBB BB 2.0 Sokd?
This question carries 1 mark

® Sarayu River 38050 $8
O Godavari River ffee38 568
O Yamuna River o3 58

O Kaveri River 5038 38

Q2 Difficulty Level: Very Easy

What does the word “MAKARA” in the name of the Festival “MAKARA SANKRANTHI” refer to?
“S058 505°08” @R Do ataS® “SH5s” @B HSo B0 BP9 ?
This question carries 1 mark 5 <

L

Q
2D
)

O Bh'oéi Fire &R 006
Y

(O Rangoli Design Sorsgoen &

@ Telugu Zodiac Sign Seois o8

O Name of a star $ggo 55
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EEMT2024-PREL{MS-CL7 (#150)
Q3 _Difficulty Level: Very Easy

“ The given photo logo is associated with which programme?
oy

This question carries 1 mark

O Jagananna Suraksha s So5g
O  Aadudam Andhra escomro esog
O Nari Shakti 8 #&

@ Khelo India Youth Games 3¢ goGa® dhodesd §ed
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EEMT2024-PREL{MS-CL7 (#150)

Section: GK-MODERATE

_<Marks per question: 2 .
2 of 2 question(s) in this section will be shown to examinee
Examinee should answer all 2 question(s) in this section

Q1 Difficulty Level: Very Easy

What is the full form of APPSC, that fills government jobs through Group - I, Group — Il notifications?
Ko — 1, KT — 11 §e3933 orgoe 980es e&ymen 858 33 APPSC c3ng), 08 2320637
This question carries 2 marks

O Andhra Pradesh Public Sector Code
O Andhra Pradesh People Service Centre
@® Andhra Pradesh Public Service Commission

O Andhra Pradesh People Sector Coverage

Q2 Difficulty Level: Very Easy

What is the duty offACB ofiicers? \
ACB 9852500 960206372,
This question carries 2 marks

® Red handed arrest of corrupt public servants
0208 @f5tHoRs S8 Be0stico —a

¢ - : 2
.O Regularization of house sites & Pass Books
ag) goren/Syren ESoadsBoito

O Issue licenses of shops and Inspection
©OoNg) AE); T © D0z & BID

O Provide legal advices to tribes
RBesR00K) TogdH JoSter @080l
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EEMT2024-PREL{MS-CL7 (#150)

Section: GK-DIFFICULT

*Marks per question: 3
1 of 1 question(s) in this section will be shown to examinee
Examinee should answer all 1 question(s) in this section

Q1 Difficulty Level: Very Easy

Match the following correctly.
808 T3 JBD DSore e3EIBB0ts.

i) Aaditya L1 (es&g L1) a) Venus %50

ii) Chandrayan (:350055°% ) b) Mars esoressocse

iil) Mangalyaan (Soo0X8035°® ) c) Moon Sogoso
d) Sun Kty

This question carries 3 marks
® i-dii—c,iii-b
O i=b,ii—c,iii-a
O i-c,ii—d,iii-b
O i-d,ii-c,iiiza

“‘\$

A
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EEMT2024-PREL{MS-CL7 (#150)

Section: SCIENCE-EASY

_<Marks per question: 1 .
9 of 9 question(s) in this section will be shown to examinee
Examinee should answer all 9 question(s) in this section

Q1 Difficulty Level: Very Easy

The process of fusion of the male and female gametes is called
DB, 308050  BodkreK Dere EoowE $§A%
This questioﬁ carries 1 mark

® Fertilization Ho8%8e0
O Pollination So° $05%),0
O Reproduction geogs®

O Seed Formation 9% 20220

Q2 Difficulty Level: Very Easy

What is the largest:gland in.our body? N
25203 38808 &Y Ko 287?
This question carries'1 mark 5 <

O Pituifary 26205008 [{08
Y

(O Adrenals 28595 08 &

@ Liver s*8a%o

O Thyroid gorané&

Q3 Difficulty Level: Very Easy

72km/h(3.2/t50) = m/s(/d)

This question carries 1 mark

O 10
O 15
® 20
O 25

Page 6 of 31
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Q4 _Difficulty Level: Very Easy (,9‘3' <
' & &

& & &

< Percentage of CO, in inhaled air is < <
28y mdS® CO, 7=0?
This question carries 1 mark

O 0.4%
® 0.04%
O 0.004%
O 0.0004%

Q5 Difficulty Level: Very Easy

Symbol of Electric Cell
D856 600 D080

K>,
N
Noble Thoughts
Noble Actions

oRyRA00 @3 yE BE), Hodes0?
This question carries 1 mark

Mg,OH
Mg(OH),
MgOH

O O @ O

Mgonz
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Q7&o§$ifficulty Level: Very Easy

»
(& Amoeba digests its food in the

B0, T TR M), BYo IpoB?
This question carries 1 mark

& .
Q¥ EEMT2024-PREVL$§?S-CL7 (#150)
&

O stomach ggraso
O Food pipe esstsaers
@® Food Vacuole esss 88

O Rumen g0 ess58a%00

Q8 Difficulty Level: Very Easy

Litmus is extracted from

® Lichens 535,

O Lime Waterm%@ Beo

O Atmosphers%?wzéd
&Y

O soil m@"

Ko

- N N
@ Difficulty Level: Ve : Noble Thoughts &
Noble Actions

@ The Sun Jr=g5es0
O Plants Soog,eo
O The Moon $ogoco

O Animals esogpeo

& &
.
S
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EEMT2024-PREL{MS-CL7 (#150)

Section: SCIENCE-MODERATE

_<Marks per question: 2 .
4 of 4 question(s) in this section will be shown to examinee
Examinee should answer all 4 question(s) in this section

Q1 Difficulty Level: Very Easy

Which of the following is not a Legumes?
&3 §08 708" BrigID Koewozrds J0sdB
This question carries 2 marks

O Moong e
@® Neem 35
O Beans a5,

O Peas 2o}

Q2 Difficulty Level: Very Easy

Raju was bitten by:an ant. Then what substance is gives relief torhim
TP DI @goa. QJ))C80 808 &53:3000 EE5 &IBIKIEHE IB?
This question carries'2 marks . &

L

Q
2D
)

O Baking Soda #80F vt
Y
(¢ Farmic Acid 08 5 C{,\ :
& 9
O calamine s035

@® Baking Soda (#80f vz) or Calamine (s°03)5)

Q3 Difficulty Level: Very Easy

Which of the following is not a product in anaerobic respiration?
s 808 T3S’ ear0n FRIANS® &8)yH0 08
This question carries 2 marks

@ Water d5

O Energy %8

O carbon dioxide s°t)S 558 y&
O Alchol ese) 6

Page 9 of 31



\v& EEMT2024-PRE@5QS-CL7 (#150) &&

& & &
< %Q §f2
Q4 _Difficulty Level: Very Easy 0§§' A
& & &
Which of the following is fight against germ@that may enter our body.

&5 808 T3S DD H0% B80S’8 $3F03 JrE8S0eE sTEEran?
This question carries 2 marks

White Blood Cells 8¢ 8% sezen
Red Blood Cells 28 5% seen

Platelets 55 Ho85en

O O 0O @

None of the above 395°9)

N
Noble Thoughts
Noble Actions
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S EEMT2024-PREL{MS-CL7 (#150)

Section: 'SCIENCE-DIFFICULT

*Marks per question: 3
3 of 3 question(s) in this section will be shown to examinee
Examinee should answer all 3 question(s) in this section

-
~ -

Q1 Difficulty Level: Very Easy

Match the following correctly
DB Do e3BIBS0s

i) Autotrophic Sgaso 28380 a) Mushrooms $¢R°esor
if) Insectivorous 8exses Soog),e0 b) Cuscuta 8357560
iii) Parasite 5072 c) Pitcher Plant 35083(2:)8) 3w%);

d) Tamarind 90&3
iv) Saprotrophs $y°&se58se0 ) 0PI

This question carries 3 marks

O i-d,ii—b,ii—a,iv-c

O i-d,ii—a,iii—c,iv-b

® i—d,ii—c,ii=b iv-a :
O i-c,ii—bjii—a,iv_d :

a \
«

‘4

Q2 " Difficulty Level: Very Easy : éi’\‘
4 &
Find the correct order (s §08 68" 588 §300 28?)

This question carries 3 marks

O Kidney — Urethra — Ureter — Urinary bladder
Sorgiadotio = PRSo — ArGTPYo = aurgriodo

Kidney — Urinary bladder — Ureter — Urethra
S0gadotio — AIFPEPEO0 — APPSR — Rdo

Kidney — Ureter — Urinary bladder — Urethra

Aargnotio — TGTrYo — SurgrEaio — Do
Kidney — Ureter — Urethra — Urinary bladder

Sargdoto — AArGrYo — Do — AurgrRoido

« ~

Pag.e'll of 31
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Q3 _Difficulty Level: Very Easy (,9‘*' &
K & K
o & 2
“"Match the following correctly < <
B Do 238538508
i) Acetic Acid D238 essyo a) Tamarind 90¢
ii) Lactic acid eS8 essyo b) Spinach %5y
iii) Oxalic Acid es5%)98 esso ¢) Vinegar 3216
Pelebla®)
iv) Tartaric Acid e85 esso d) Curd
This question carries 3 marks
O i-d/ii—c,iii—-b,iv-a
O i-c,ii—d,ii—a,iv-b
® i-c,ii—d,iii-b,iv-a
O i-c,ii—a,iii—b,iv—d
® &
R Rl
O O
R &
9 Nl
4 &
& &
o g p
AQ "¢ A&
Ny o~ 5
& Noble Thoughts &
Noble Actions
» R\ R
& P &
W N S
O Y O
W W
& 3 &
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EEMT2024-PREL{MS-CL7 (#150)

Section: SOCIAL-EASY

*Marks per question: 1 .
6 of 6 question(s) in this section will be shown to examinee
Examinee should answer all 6 question(s) in this section

Q1 Difficulty Level: Very Easy

The famous quote,”All men are equal there is no caste or sub-cate” was given by whom?
90ET® DRTPHD “Koeren Soe &RKeren 9060 DB “ D IO80BHIK?
This question carries 1 mark

Basaveswara 203335500
Vallabhacharya BOEITEIg 0

Ramdas ordomedo

O O O @

Ramananda oehoedosocse

Q2 Difficulty Level: Very Easy

Raju wanted to draw an/Indian resources map. To show the mineral available area in that map, he has to use
which of the following colour?

oo 9 :Z)csggg PREBEED) BP0 93 HexR) Roﬁoe)m@aram 20850S" PRePen 255500305 0E°RY wﬁ)oéwébé 5o §o(3 )
Bor0R0 &H0RIpe0? oF

Thls‘.questlon carries/1 mark <

Y

@ Light red 8¢ d505) éﬁ{‘\ |
O Dark grey st a°&3
® White 8e09)
O Black 3e03)

Q3 Difficulty Level: Very Easy

‘Pigmies’ are related to which of the following?
DRgew s 308 S" B8 F50250800D TEH?
This question carries 1 mark

Amazon e930erd
Congo s°oR®

Angola eofi’er

O O ® O

Kenya 3~

Page'13 of 31



\xifb EEMT2024-PRE@§?S-CL7 (#150)
& ©
< <
Q4 og{gifficulty Level: Very Easy
&Y A,
D >
<" What is the meaning of the word “fateh”? <
‘DB @3 Do ALY, 8o D0e3?
This question carries 1 mark

O Gold worrso

@ Victorious 9esano
O Brave 550

O Tax sy

Q5 Difficulty Level: Very Easy

What are the forests, where the rainfall is mo g emperature around 20° C?

. | &
Noble Thoughts &
Noble Actions

O Vallabharaya Segsoras
O Jayapa sais

O Thikkana &%

@ Vidyanatha DT

(&'i?‘ o@



EEMT2024-PREL{MS-CL7 (#150)

Section: SOCIAL-MODERATE

_<Marks per question: 2 .
4 of 4 question(s) in this section will be shown to examinee
Examinee should answer all 4 question(s) in this section

Q1 Difficulty Level: Very Easy

Identify the odd one regarding the location of rivers.
300 &S eprorT PHore &) TR KHBoBod.
This question carries 2 marks

O Krishna g

O Pennadw

@® Brahmaputra g5
O cauvery =38

Q2 Difficulty Level: Very Easy

Which of the following poet was not in the list of “Asthadiggajas”:
&3 808 2 89 “0Bie 590 BT J08@"?
This question carries'2 marks 5 <

_ s

@ Kalidas SO0

Y
Q¢ Dhoorjati ¢i=ge3 &
‘O Nandi Thimmana %08 BB

O Pingali Sooranna %o 57268

Q3 Difficulty Level: Very Easy

“The head of the state is decided through election” this quality reflects the nature of --------- B8 J0
RYETST® DO OB IR OFEIO ============== 0 3APoDYOB
This question carries 2 marks

Sovereignty
EelxANNOTA IS oTol

O

Republic
Heaghogo.

Secular. 850

O

Socialism FeBogaes0

Page'15 of 31
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& & <
Q4 o;gﬁifficulty Level: Very Easy &(§§' A
o &
< Alauddin khilji was connected to which of the following incident?
&5 808 D J030008" wgrHBS P8 Soghoso Kord?

This question carries 2 marks

@® Branding of horses K3oee S00¢ Sowosco
O Changing of capital ooesge 535y

O Founder of khilji dynasty g $o# g5
O All of the above 258,

N
Noble Thoughts
Noble Actions
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EEMT2024-PREL{MS-CL7 (#150)

Section: SOCIAL-DIFFICULT
‘Marks per question: 3
2 of 2 question(s) in this section will be shown to examinee
Examinee should answer all 2 question(s) in this section

Q1 Difficulty Level: Very Easy

Match the following 808 T°¢3R 238538506

a) Rudra Deva

i) Golden era {3¢8 a5k
i) SINe! o o5 By

b) Ganapathi Deva

ii) Rudhreswara temple %3358 daredo
© Keand 3o

iii) Last ruler of Kakatiya dynasty ss&o% So%08® 958 | ¢) Prola Raju - Il
OO 25 2o Tea

iv)First independent ruler of Kakatiyas se8dcimnee’ d) Pratapa rudra
3000563 Wg0g s S, Egats0

This question carries 3 marks

@ i-b,ii-aii-d iv-c
O i-d,ii-c,iii<b, iv-a
O i-aii-byiii-c,iv-d &
O i-bi-a,iii-c,iv-d

“‘\$

A
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EEMT2024-PREL{MS-CL7 (#150)

Q2 .:Difficulty Level: Very Easy

Match the following 808 €3 es¢538506%

a) Deserts, Mountains

i) Biosphere 2305830
DTPEIW, HELT°

b) Sea, River

i) Atmosphere srarsdeso
D300, B8

c) Argon 0.93%

iii) Hydrosphere esers8gasioo esc;:S 0.93%

d) Animals, Plants

iv) Lithosphere 3ersS8essiono
ZBOEIYHE , JWE);0

This question carries 3 marks
® i—d,ii-c,iii-b,iv-a
O i-a,ii-b,iii-civ-d
O i-d,ii-b,iii-a,iv-c
O i-c,ii-d,iii-b,iv-a

A
A

Page18 of 31



EEMT2024-PREL{MS-CL7 (#150)

Section: MATHS-EASY

_<Marks per question: 1 .
10 of 10 question(s) in this section will be shown to examinee
Examinee should answer all 10 question(s) in this section

Q1 Difficulty Level: Very Easy

2x02x2x02x2x0.2
This question carries 1 mark

® 0.064
O 064
O 0.0064
O 64

Q2 Difficulty Level: Very Easy

Which of the following is not an Integer?
& 808 3OS Jog Joag 56 IB? \
This question carries 1 mark

O D_i—él '\*
O 125-_ 25 A

O 105+7 &
® —42:12

Q3 Difficulty Level: Very Easy

—i -1
Choose the rational number which lies between ? and —_—

3
808 73&° _5_2,,;1,5'01;_; _?1 © Sogsy o essBah Sogs D6?

This question carries 1 mark

® 5%
© %
© %
© %

Page'19 of 31
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& &
N »3 %
Q4 éﬁifﬁculty Level: Very Easy (,9‘3' <
S5 &
“For which equation x=—3 is a solution? <
808 08" x=—3 ¢ ey SDuse0 IB?
This question carries 1 mark

3X=9
2X-5=10

X
—+3=2
3

O @ O O

104X =-7

Q5 Difficulty Level: Very Easy

K>,
N

L Noble Thoughts
%36 Difficulty Level: Ver Noble Actions

The reciprocal of(% X T
(3 x D)+ (3 x4)

This question carries 1 mark

25
O &

O 3

1
O 3

12
©25
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&
Q@
Q7&o§ﬁifﬁculty Level: Very Easy

X 2

<’5"Find the value of “X” in the given figure? <

F 9
A 4

38), 9e00&° “X” ded Jos?
This question carries 1 mark

O 24°

O 180°
O 135
® 12°

The median o 2
e38°5re0 55008° @ %
2,8, 10‘0 -2, X+8, 28,

® 21
O 20
O 10
&
3‘"&3&
¢
Ko
N\
o
Q@
PR

&

e
N
5

K>,
N
Noble Thoughts
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Qg&éﬁifﬁculty Level: Very Easy

A
&In A ABC, » B=90"thenx =

AABC &°, B=90"®o0odx=__

This question carries 1 mark

28
32
25

O O @® O

23

This question ca}’;\(les

&
O +,x &ﬁ;p
O +.—@ =
+,QQ§;
©($§?;Xa_
&Y

Q,@ 'l-.'l_.'l+

EEMT2024-PREVI4&S-CL7 (#150)
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& & &
Section: MATHS-MODERATE & e
<V < N
&Wlarks per question: 2 é}“‘ (éz}*‘
6 of 6 question(s) in this section will be shown to examinee
Examinee should answer all 6 question(s) in this section
Q1 Difficulty Level: Very Easy
If % of a number is 20 less than the original number. Then find that number?
a8 Dogy 030Y); %;5 grifo, & Doy E0E3 20 $8%0);3 @000 & Sogyg Jo®?
This question carries 2 marks
O 80
® 60
O 40
O 50
Q2 Difficulty Level: Very
2 A &
If XY = 1055 Q 2,
XY = 10-2 586" 2 o
i . &
This question carrie N
< <
o 3 &
@ S &
© 11 Noble Thoughts &
5 Noble Actions
O 12
1
O 53
» R\ R
% S
& &
W ¥ S
RS % RS
& & W
& S &
& Page’23 of 31 &
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Q3 ogﬁifficulty Level: Very Easy (,9‘3? o&?
&Y A

Fin the given figure I||m, p||q then a+b+c+aé'_
o ! -
1100/ 7
1 / §
e

58, 9e08* [||m, p||q eows atb+c+d=___
This question carries 2 marks

@® 3200
O 3600
O 380°

O 400°

Q4 Difficulty Level: Ver
D
. >
Find the anglgy‘%hlch i
28 -§6mo g\@‘{)}"ég §6?'eo
This ggestlon carries
AQ‘}?‘ B
O a0 =N
" Noble Thoughts
O 720 Noble Actions



& EEMT2024-PRE51§FS-CL7 (#150)

& ©

& &
QS&éﬁifﬁculty Level: Very Easy

A,
é&

K
“In AABC, AB = AC, then X+Y =___
A

2y

2 X -
B C D

B
L

A ABC &"AB= AC 0003 X+Y=

This question carries 2 marks

O 1350
® 120°
O 1400
O 1450

e
8 ,}?‘QT 1 )+ X 2
'J;I‘ﬁ% question carries . s
éﬁ" Noble Thoughts /éy
O 1 Noble Actions
6
o =
O
®
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. R < <
Section: MATHS-DIFFICULT & &
<P _ &Y &Y
&Wlarks per question: 3 Pl (éo“

<
4 of 4 question(s) in this section will be shown to examinee
Examinee should answer all 4 question(s) in this section

Q1 Difficulty Level: Very Easy

The average of 4 consecutive odd numbers is 52. Then find the largest number?
4 5555 B Des X)o&)ese) [50°98 52. 90005 63 2)606 bogpé 0e8?
This question carries 3 marks

51
63
55

O @ O O

65

If31 ofa numberss 0.1 &
1 o .
28 Sowy o083 S 7 7
This ques&ﬁh carries &g,
K S
& &
@ \ WL
s . A /&
& y4 A \ & v
¢ B Noble Thoughts &
O 13 Noble Actions
O 124
» R\ R
% %
> &
» F Rid
Re; O %C)
W & &
o N R
& Page’26 of 31 &
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QB&éﬁifﬁculty Level: Very Easy

A
<’szlln the given figure ZABC =7

88y, dwos® LABC =7
This question carries 3 marks

O 136°
® 1120
O 580
O 680

2
Q4 Difficulty Level: Ve
™

40% of mber is ad

2 oAy E° 40% % 40 D
% - -

'Rh‘jg’ question carries

Qﬁ"é
O 45

O 36
O 75
® 50

2 resu :'/'l of the 1
' -;ez; > S0°50%0. 89
Ko,

N

Noble Thoughts
Noble Actions
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Section: IQ-EASY &
é" arks per question: 1 %,

<
3 of 3 question(s) in this section will be shown to examinee
Examinee should answer all 3 question(s) in this section

Q1 Difficulty Level: Very Easy

Finish the series below 8o 29y% £55°0) 830%006.

O O L7

This question carries 1 mark

O

$

O

s
bg "

Noble Thoughts
Noble Actions




& EEMT2024-PRE5§?S-CL7 (#150)
& 8
¢ <

Q2 _Difficulty Level: Very Easy &(,9‘*'

& v
& »
“"Which figure is identical to the first &ocsefw(gé 28308 e Do 287?

This question carries 1 mark

O

A
&
o A
oS e o
Qgg Sblfflculty Level: Ve .
& Noble Thoughts
How many triangles are there o n below?

ON . youR$

& 8088 BIGES GOS® I HAF &
: ; E Reg.No.204/2015

This question carries 1 mark

O 5
® 6
O 7
O 8
» »
& &
& &
N 3
“9 A
y& Page’29 of 31




o W

& o
N\ EEMT2024-PREVM*?S-CL7 (#150)
"

& e
. R <
Section: IQ-MODERATE &
Wa ion: <
é" arks per question: 2 %,

<
2 of 2 question(s) in this section will be shown to examinee
Examinee should answer all 2 question(s) in this section

Q1 Difficulty Level: Very Easy

Fill in the blank; g°&9 5780508,
42 :56::72:7
This question carries 2 marks

80
90
81

O O @ O

100

&0 Sg5rod’,
This questi
¥
&
® p.<
&V L
ok .
& Noble Thoughts

O H Noble Actions
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Section: 1Q-DIFFICULT

(,9“3’
~ , &
&Wlarks per question: 3 é}‘“
1 of 1 question(s) in this section will be shown to examinee
Examinee should answer all 1 question(s) in this section

Q1 Difficulty Level: Very Easy

Find the leap year after 1896? 1896 &8 53y O S038)0°R) 5:08%,08.
This question carries 3 marks

O 1900
O 1908
® 1904
O 1912
N
&
5 4
& 4
£ P
& Noble Thoughts
Noble Actions
R S
5 R
&o Y
o ®
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